BOBWILSON 123

ONLINE CROCHET TUTORIALS

Wedding Shaw
Designed by Clare Sullivan

Video tutorial - https://youtu.be/uMs30Xd-jKO

US terminology

150 grams (1 % balls) Red heart shimmer 5 mm / H hook
Yarn needle and scissors
NOTES:

When it has instructions in brackets and then a x3 (could be any number) after it it means that you need to repeat
the instructions in brackets that many times...for example if it is x3 - you do the instructions in brackets (that counts
as once) and then do the instructions in brackets 2 more times

Motifs are all worked on 1 strip — no joining YAY !!
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Make a chain as wide as you want your shawl — you can undo any extra chains (I did 160 chains)

Dc into the 5™ ch, ch 1, (dc, ch 1) x3 in the same ch, skip 3 ch’s, slip stitch into the next ch * ch 1, skip 3, (dc,ch1) x4
into the next ch. Skip 3 ch, slip stitch into the next ch * repeat from * to * across. (dc, ch1) x7 into last ch

Working down other side of ch

Skip 3 ch. Slip stitch into next ch (same ch as you slipped into on the other side) repeat from * to * across.

Into last ch (where we worked all of our dc, ch1’s) ch 1 (dc, ch 1) x2, slip stitch to the 3™ ch from beginning to join

Slip stitch to the ch 1 space *(ch 3, 3 dc, ch 3, slip stitch) into the ch 1 space, slip stitch into the dc and ch 1 space*
repeat from * to * into the next 3 ch 1 spaces. You will have 4 petals

Slip stitch into the following — (dc, 2 ch 1 spaces, dc and ch 1 space)

**(ch 3, 3 dc, ch 3, slip stitch) into the ch 1 space, slip stitch into the dc and ch 1 space** repeat from ** to ** into
the next 2 ch 1 spaces. You will have 3 petals. Slip stitch into the following — (dc, 2 ch 1 spaces, dc and ch 1 space)***
repeat from * to *** across

When you get to the end flower you will work 6 petals and continue in pattern across to end

Body of shawl

Laying your strip of flowers horizontally - looking at the flower on the right hand side, you can see it has 6 petals — 3
on one side (let’s call this the top) and 3 on the other (let’s call this the bottom)

Join yarn into the first ch 3 of the 4t petal (start counting petals from the bottom)

Ch 6 (dc, ch 2) into top of last ch 3 of the same petal, (dc ch2) into the top of the first ch 3 of the next petal, (dc, ch 2)
into top of last ch 3 of the same petal, (dc ch2) into the top of the first ch 3 of the next petal

*(dc, ch 2) into top of last ch 3 of the next petal, (dc ch2) into the top of the first ch 3 of the next petal, (dc, ch 2) into
top of last ch3 of the same petal, (dc ch2) into the top of the first ch 3 of the next petal* repeat from * to * across

* (dc, ch 2) into the last ch3 of the next petal (dc, ch2) into top of first ch3 of the next petal (dc, ch2) into the top of
the last ch 3 of the same petal, (dc, ch2) into top of first ch3 of the next petal* repeat from * to * across ch 2, tr into
top of the last ch 3 of the same petal

Ch 4, turn *skip ch 2 space (tr, ch 2, tr) into next ch 2 space* repeat from * to * across. Tr into the last ch space (this
is the ch 6 space from row 1 of the body of shawl)

Ch 4, turn *(tr, ch 2, tr) into next ch 2 space* repeat from * to * across. Tr into top of ch 4 from previous row
Repeat row 3 for majority of the body of shawl - | did 14 rows

Neck

Ch 3 *(dc, ch 2, dc) into next ch 2 space* repeat from * to * across. dc into top of ch 4 from previous row

Ch 3 *(dc, ch 2, dc) into next ch 2 space* repeat from * to * across. dc into top of ch 3 from previous row

Repeat row 2

Ch 1, sc into same stitch, sc into the next stitch, 2 sc into the chain 2 space, *sc into the next 2 stitches, 2 sc into the
ch 2 space*

Thank you for choosing my pattern
Happy crochet
Clare xx
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